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Use the appropriate form of the verb given in brackets.

1.	 Kim (speak/speaks) too loudly.

2.	 Anil (drive/drives) a taxi.

3.	 Neither of the boys (is/are) here.

4.	 One hundred rupees (is/are) not a lot of money.

5.	 The Major and his wife (was/were) the guests of honour.

6.	 She (don’t/doesn’t) look well today.

7.	 Neither Shreya nor Saksham (know/knows) the answer.

8.	 A swarm of bees (gather/gathers) nectar from the garden. 

9.	 The crowd (is/are) eagerly waiting for the band.

10.	The internet server (is/are) disconnected.

11.	Mehul and I (are/is) participating in a dance competition.

12.	Sneha’s family (is/are) going for a vacation.

13.	Their dogs (are/is) very disciplined.

14.	The group of tourists (was/were) misguided.

15.	I (am/are) sick. 

Subject-Verb Agreement
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Answers

Use the appropriate form of the verb given in brackets.

1.	 Kim speaks too loudly.

2.	 Anil drives a taxi.

3.	 Neither of the boys is here.

4.	 One hundred rupees is not a lot of money.

5.	 The Major and his wife were the guests of honour.

6.	 She doesn’t look well today.

7.	 Neither Shreya nor Saksham knows the answer.

8.	 A swarm of bees gathers nectar from the garden. 

9.	 The crowd is eagerly waiting for the band.

10.	The internet server is disconnected.

11.	Mehul and I are participating in a dance competition.

12.	Sneha’s family is going for a vacation.

13.	Their dogs are very disciplined.

14.	The group of tourists was misguided.

15.	I am sick. 


